Multiplying Two Trinomials (D)

Simplify each expression.

(=5r% —4r + 8)(—4r* + 1 + 3)

2. (=7a” + 2a* + 9a)(6a* — Ta — 4)

(=87 — 8t — 9t (=2t 4+ 9% — 41)

W

(=" + ¢+ 38 (7¢" + 8¢° — ¢*)

W

(=8yt — 9y + 99°) () + 8y + 2)

Ot

6. (T2® — 52% + 52)(32% — 62 — 3)

7. (=3p° — 7p* + 5p*)(—6p® — 2p + 4)

8. (Tv° — 50% — 90)(80° + 6v* — Tv)

e
N®)

(=5 + 2y +4) (3 —y +9)

10. (—20° + 8v* — 3v%)(Tv? + 9v + 5)
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Multiplying Two Trinomials (D) Answers

Simplify each expression.

1 (=5r® — dr + 8)(—4r* +r + 3)
= 20r* + 117° — 5172 — 4r + 24

2. (=7a® 4 2a* + 9a)(6a* — Ta — 4)
= —42a° + 61a* + 68a® — 71a® — 36a

3. (=817 — 8t* — 97) (=217 + 9t* — 4t)
= 16t — 561" — 225 — 49¢° + 36t

1(=6" +¢" +3¢)(7¢" + 8¢° - ¢)
= —7¢" — ¢* + 30¢" + 23¢" — 3¢’

()

(=8y" —9y° + 9y”) (y* + 8y +2)
= —8y5 — 73y° — T9y* + 5dy> + 18y°

6. (T2® — 52% + 52)(32% — 62 — 3)
= 212 — 572" + 2423 — 1522 — 152

7 (=3p° = Tp' +5p°)(—6p” — 2p +4)
— 18p" + 48p5 — 28p° — 38p* + 20p°

8. (Tv° — 50% — 90)(8v° + 6v* — Tv)
— 560° + 20° — 1510 — 190° + 6302

0 (=5 + 2y +4)(3y° —y +9)
= —15y* + 11y* — 35y + 14y + 36

10. (=20° + 8v* — 3v*)(Tv? + v + 5)
= —14v" + 380° + 410° + 130* — 150°
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